1. Install drawer slide @-A in the corresponding
position of the 12 using (8.

The 2 is connected to the 1 with 2),(D) and (4.
The 13 adopts 2) and (O) to connect the 2.

The 2 adopts 2) and (@) to connect the 1 and 13.

QOO

2. The 10 adopts 2) and @) to connect the 1.

The 9 and 14 are connected with the 8 by 2) and (D).
Insert the 11 and 12,

The 4 adopts 2),(D) and (3) to connect the 2.

At the same time, 2) and (O) are used to connect the 9.

3.Use @ to install drawer slide @-A on the 3 of the corresponding
position.

The 6 adopts @ and (D to connect the 4.

The 5 is connected to the 4 and 6 with @.

The 7 adopts @ and (D to connect the 2 and 6. At the same time, @ is
used to connect the 5. The 3 adopts @, and @ to connect the4.

At the same time, @ and (O are used to connect the 14 and 6.

4. The metal leg adopts @5)@and to connect the 1.

The 21 adopts ®and @)to connect the 1.

The 22 adopts @®@and ®to connect the 1.

(After installing the leg, ensure that all leg are of the same height);



5\
Fastener installation guide:
Move the formed cabinet (without

: @) 61 door panel) to the installation
d / position, and remove the cabinet

®e-8

after confirming the connection
[ Systen Bo'lﬁ| in the wall (910 d
s| Fastener installation UDrill holes in the wall (¢ eep . . .
et e 50mm), and pre-bury the 7. using to install the drawer slide @-
Connect the corresponding board of B on outside of the 17 and 18.
the cabinet to the wall with @

(ensure that the cabinet is
perpendicular to the ground).

@ @® k] ed
®®
8. the 17 and 18 using (5) and (6) to
. connect the 24 and 25, then insert the20.
QOO
lower sheave block ‘©) Q
6\

The is connected and installed with In the corresponding position

of the 15 and 16 (pay attention to distinguish the upper and lower sheave
block),

Clamp the installed 15 and 16 to the slide rails on the 1 and the chutes on 9. The 17 and 18 are connected to 19
the panel with , and the 9 are connected to 24
Corresponding position (first align with the upper chute position and then and 25 with and (7).

install on the corresponding position of the slide rail),



15/ 16| 25 24 18 PR1 P2 |1 23

10.

a. Exposed hole paste (3).

b. Insert the drawer, adjust the distance between the drawers to 2mm, the
installation is complete.

Itme Name Spec. | Qty
1 |Base plate 1200X383| 1
2 |The left side plate 870X394 | 1
3 |[The right side plate | 870X394( 1
4 |Countertop 1200X383| 1
5 |Middle-upper side 129X113| 1
6 |Backplane 1200X138| 1
7 |Top plate 1200X149| 1
8 [Latus inframedium 674X382( 1
9 |Transverse back strip| 529X96 | 1
10 |Vertical back strip 674X96 | 1
11 |Right backplane 537X298( 2
12 [Left backplane 682X289( 2
13 [Clapboard 656X304 | 1
14 |Pulling strip 529X106 | 1
15 |Left door panel 1
16 |Right door panel 1
17 |The right drawer side | 300X176| 3
18 [The left drawer side | 300X176( 3
19 |Drawer end 472X176| 3
20 [Drawer bottom 481X293( 3
21 |Adjustable leg 1
22 |Rectagular steel tube 1
23 |Metal leg 4
24 |Lower drawer surface| 525X222| 2
25 |Upper drawer surface| 525X222| 1




Hardware List

Name Picture [ Qty. | No. Name Picture | Qty.| No. Name Picture Qty.

Large tapping buckle @ Small tapping buckle

W 12 @ ¢4 galvanized 6
concave pad
34mm .

bar 42 bar

o3 M3*30 cross
countersunk head . N
Large buckle wheel | N5 42 | @ qalvanized seff-tapping 12 | (2| 4*4 Allen wrench 1
nails
M3.5*14 cross
. : countersunk head :
Furniture sticker 54 galvanized self-tapping 42 @ Dia. 6mm flat washer 20

nails

M4*22 cross

2 countersurk | (@ #) | o @] MO20hexblack 14

screw

Small buckle wheel

8*35 Wood tip @ 13 | (9) Handle 3 Dia. 6mm spring pad 12

galvanized screw




No. Name Picture [ Qty. | No. Name Picture | Qty.| No. Name Picture Qty.
M6*50 hex black ,
screw M 6 | @ Air hole 2
(7) | Anti-collision adhesive @ 8 | @ lid with holes 1
M4*16 cross
countersunk head - :
galvanized self- 32 sliding rail 3
tapping nails
Door pulley iy - 4
¢8*35 expansion 9
rubber plug
M5*50 cross
@ countersunk head 9

galvanized self-
tapping nails




